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An equation is shown.
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Sarah claims that for any
fraction multiplied by ;, n will

3

always be less than %

A. Drag one number into each
box to complete an equation
that supports Sarah's claim.

B. Drag one number into each
box to complete an equation
that does not support Sarah's
claim.

VWEONOUAWNR

° =D

A. Supports Sarah’s Claim

2
—x
3

[

B. Does not support Sarah’s Claim

2
—x
3

OO





image4.png
The area and one dimension of a
piece of land are given.

Drag a number into each box to
represent the second dimension
of each piece of land.
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The area of a rectangular piece of land is
&5 square mile. One dimension of this piece
of land is 3 mile.

The area of a plece of land that s in the shape
of a triangle Is -+ square mile. One dimension of
this piece of land is 3 mile.

The area of a rectangular piece of land is
5% square mile. One dimension of this piece
of land is 2 mile.
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A greeting card company prints
350 cards each hour.

Use the Add Point tool to plot
how many cards the company
prints after 2 and 3 hours.
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How old is the athlete?

m Variability
in Data

Several questions are shown.

Which guestion expects Van’:glllty

variability in the data related to in Data

it?

Drag one label into each box to
show if the data related to each
question has variability or not.

How many pets does each 6th grader have?

How many 6th graders attend our school?

How old are the animals at the zoo?

How many baseball cards does the boy have?
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Tana fills the prism shown with
110%in3 of liquid.

Select the height of the liquid in
the prism.
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Place the expressions in the
table to tell whether each is
equivalent to 8(t+4) or 8t + 4.

If an expression is not equivalent
to either, do not place it in the
table.

Equivalent to 8(t + 4)

Equivalent to 8t + 4

(B+10)+(8+4) (8 x 1) +(8x4) 8t+12

4@t+1) 8t+32

2(at+2)  4t+4+4t
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A landscape designer is planning

the layout of trees in a park.
e There are two types of trees:
elm and pine.

® There should be at least 16
t300tal trees but no more than

 The ratio of elm trees to pine
trees will be 3:2.

Drag trees anywhere to the
model to show a possible
number of each type of tree.
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Bill wants to run a total of 4,000

meters in 5 days.

The table shows how far he runs

each day for 4 days.
Each lap is 400 meters.
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Bill should run

laps on Friday.

How many laps should he run on

Friday?





